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1 2 3 4 5 6
4000 |AU_2@°UA 12Eé°s 84,412,931.5 84,334,931.5 832,544.2
31 A4l
4050 | 2. AUA20ET 12Eé°5 X 83,600,387.3 84,334,931.5 20,000.0
31 A4l
4100 |1.1 2pE=2T2Ugk 12802T6adA0acU X 6,400,335.5 6,400,335.5 -
31 ATa0
4110 | _&62gai 1026140 2pE2T212580°8 ©i X 6,400,335.5 6,400,335.5 -
p2i°E21028U°8
&RCo
4111 |- 2RE3TAOY»AC SRES TS T3A0»A ~ NS T»E3 Tx3AY»f 4111 5,641,797.1 5,641,797.1 -
4112 |- &3-S TRAUY»A, 1ASUST3Y EASE&IeaUY»A ~ N3 wasT 4112 758,538.4 758,538.4 -
Tx3AY»A
4200 |1.2 12&20acAlaclUesk i1 2a62UgU°sk X 15,413,070.5 15,413,070.5 -
0ceg °3a6D
31 A4l
4210 | p25a002T2T=2U 12Eé&°56 X 7,904,974.8 7,904,974.8 -
&RCo
4212 |- %Y»f-»0CT 1363(a0AlasYY»fi 4212 286,123.2 286,123.2 -
4213 |- TaU&sY=3t 1=2é6=3(a0AlasyY»f 4213 7,132,244.4 7,132,244.4 -
4214 |- T3&C 1=363(40Al40YY»h 4214 211,182.6 211,182.6 -
4215 |- 2&43Nai=-A3T3Y I3Eé»A 4215 165,468.3 165,468.3 -
4216 |- T&lUC " e3AUS TaRaUY»AC TSA0ST3ta0Ala0Y 4216 109,956.3 109,956.3 -
4220 | Tads1a60a8U°sk @i bdae2T20acAlasuuess X 64,798.0 64,798.0 -
12Eé°s
&RCo
4221 |- U»A0GY -afTas0asuy»f 4221 48.0 48.0 -
4222 |- 2 wr=3e3NU=3YI3Y -anT4i0a0Y»AC - TAT 1=2Eéx»h 4222 64,750.0 64,750.0 -
4230 | 4202202962040 20t 12&20a0A0a000U°sL 0°eg X 1,900,079.8 1,900,079.8 -
“o5a60
&RCo
4231 |- i 3AEST3Y 1363(a0AlasYY»A 4231 4,328.4 4,328.4 -
4232 |- 30=3T31-53(CY 1=363(40Al46YY»h 4232 37,742.0 37,742.0 -
4233 |- 2RE3W3T34UC UBEY3-Cr3T3Y 136 - 3603Y 4233 12,430.0 12,430.0 -
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1 2 3 4 5 6
4234 |- DO 13T T3T3Y 1363(40Al46YY»h 4234 70,957.9 70,957.9
4235 |- T3E3T3a3T3Y 1363(40Al40YY»h 4235 10,000.0 10,000.0
4237 |- U»AT3[=064003T3Y I3Eé»ii 4237 125,081.9 125,081.9
4238 |- AYIN=3Ya6A uvailAc 3l 1=63{a0AlasyY»h 4239 1,639,539.6 1,639,539.6
4240 |20k @2eU29£T2T20 12&20a0A0a0UU°8E OCen X 102,277.9 102,277.9
“o3ai0
&RCo
4241 |- @36Y=3-CW3T3Y 1363(40Al40YY»h 4241 102,277.9 102,277.9
4250 | AUA26AT UadaTasd @i azpa2lasd (1=3é63(asAlasyY» X 4,848,958.5 4,848,958.5
 YiaoA»i)
&RCo
4251 |- b»YU»AC " T3640l6Y»AC AYAS6CT Yana- 46U~ &=Na&=3VaiU 4251 4,581,530.6 4,581,530.6
4252 |- @»U»Y3Y»iC " 63AUSTaRaUY»AC AYAS6CT Yafia- a0 — 4252 267,427.9 267,427.9
a=N&=vail
4260 |UUabA°s X 591,981.5 591,981.5
&RCo
4261 |- TA=e»YIST3ICY YiaoA»h = N=- &8 4261 85,118.5 85,118.5
4264 |- TAi=Ye&ART3ICY YiaoA»h 4264 215,521.1 215,521.1
4267 |- T»Y6=20=3(CY ~ N=YASICY 6YY1C YiadArh 4267 23,511.2 23,511.2
4268 |- D3Tall YAST3T3(CY 3 YiaoArh 4269 267,830.7 267,830.7
4400 |1.4 éad” ek _£=20°s X 34,600,094.6 34,600,094.6
31 ATa0
4410 |éas” ek _£=20°8 a°12T120 (02020Us20£0) X 34,341,155.6 34,341,155.6
T2v.@2T°8420A0a000°84£0
aRCo
4411 |- &UECIC3Y»A 4 yOY3YE3T3Y &» w313y (N3U3Yu=i(cY) 4511 34,317,665.6 34,317,665.6
T3UUST»A&40AIA0YY»ACY
4412 |- €&UECIC3Y»A YCYSYEST3Y &» w313V (\2U3IVu=(CY) 4512 23,490.0 23,490.0
T3UUST»AA40AIA0YY»ACY
4420 |éab” ek, £2U°8 aa a°1212U (44 p2@2U0e=ULU) X 258,939.0 258,939.0
T2v@2T°8420A0a000°64£0
&RCo
4421 |- 8ABPECIC3Y»A 43 &» I 3T3Y (4d N3U=3IYu3ICY) 44 4521 258,939.0 258,939.0
YCY3Ye3T3Y T3%UST»AA40AIA0YY»ACY
4500 |1.5 _&82@2pUasples X 432,840.2 432,840.2
31 Ata0
4530 |AUAZOAT _52@2pUaspUes a°12T120 p2Ti21£ 20k X 432,840.2 432,840.2
2128 _2TU°8£U
&RCo
4531 |- AYA=6CT 1A3U3/YAANY»A &»3T3Y " NSUSIVUY»AC 4d 4637 39,463.4 39,463.4
3¢ TASICY T3%UST»AAA0AIAYY»ACY
4532 |- AYA=6CT 1A3U3RYAANY»A &»1r3T3Y ~ SU=Vu3(cY 4638 66,781.6 66,781.6

3¢ TASICY T3%UST»AAA0AIAYY»ACY
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[&0c» 1 3ICY ISEE»AC TY T »E3-CH3I3Y AV A
c = o M S S ok NN AYL3U»YA ———
= 1383734 U3Y NAaL T3 TV»A¢ 3V T3VaUY»iA > T3fEST3Y ase» | yavrsicy wai»
1 2 3 4 5 6
4533 | - 2[f AYA=6CT 1A3U=RYARANY»A 4639 326,595.2 326,595.2 -
4600 |1.6 éa0£2E2T20 Uazétuos ©i X 2,374,121.0 2,374,121.0 -
TeUézAap2TU°s
31 Ata0
4630 | éaok=2e2T=20 uUasAl=20 6282120 X 2,374,121.0 2,374,121.0 -
25T2p20Ta0Al2g~ Uaz2éeTuos ~UateCro)
&RCo
4634 |- 2k YA3EWY»h plaic»Co 4729 2,374,121.0 2,374,121.0 -
4700 |1.7 2UE 12Eé°5 X 24,379,925.5 25,114,469.7 20,000.0
31 A4l
4710 | U1 AE82TTa0A0ac0Ues aa 12621262120 X 907,998.8 907,998.8 -
(p2&262T2T20) T2v@2Ted84a0AUa000°84£0
&RCo
4712 |- UTCA=rTasAlasYY»A 3k 8=RaslA al»r=ay1ad 4819 907,998.8 907,998.8 -
T3UUST»AAA&0AIAYY»ACY
4720 |D28T°6, 426T2_£d 10280°8 ©1 TasUA°s, asals X 117,313.1 117,313.1 -
1282128020 7267 8 @2128_ 2TU°sL Tad@ko
TES2&T a0d ©U @AaU2006 UT2T020"
aRCo
4723 |- A3AT31CA Tx3AY»f 4823 117,313.1 117,313.1 -
4760 |2UE T2Eé°s X 14,814,101.6 14,814,101.6 -
&RCo
4761 |- 2 I3Eé»i 4861 14,814,101.6 14,814,101.6 -
4770 | a=2patéT2UEU gExaolos X 4,280,256.0 5,014,800.2 20,000.0
&RCo
4771 |- &3Na66=3ICY UCcaoY»h 4891 4,280,256.0 4,260,256.0 20,000.0
4772 | = AT40° R=3U3IYUC plade»C T3AEST3Y U=6C &=Naoew=IcY X - 754,544.2 -
YaY10o yayY1=3(cy U=e T3 w3140 N3 T36400Y»AA
5000 |~.aa ukU=20é2T20 2TTAi1UCsA T1ail X 4,888,297.4 - 4,888,297.4
12Eé°s
31 ATa0
5100 | 1.1 pAGU=2T=20U gr=aoU°d X 4,743,497.4 - 4,743,497.4
31 A4l
5110 |p2Ug®s @i bA£UaAUAUUCS X 3,813,281.5 - 3,813,281.5
aRCo
5112 |- b»YU»AC ~ RCYASAIASYY»AC TSé45640U 5112 895,440.0 - 895,440.0
5113 |- b»YU»AiC ~ BCYAAIASYY»AC TSACT3E I»A=3Yana- aU 5113 2,917,841.5 - 2,917,841.5
5120 |@°g°2U=20°8 ©1 &285=21ada600°8 X 740,165.9 - 740,165.9
&RCo
5121 |- TASYEA&A3(CY &3Au=Tanaily»h 5121 20,000.0 - 20,000.0
5122 |- 135313V 6303 14RaUY»h 5122 49,4426 - 49,4426
5123 |- 2t U»0»Y3Y»A —~ 63A03 TanaiUY»i 5129 670,723.3 - 670,723.3
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1 2 3 4 5 6
5130 |=2UEpA@U=2T2U gEza0U°s X 190,050.0 - 190,050.0
ance’
5132 |- &a YiasA=1=3Y NCUYST3Y UCcadY»fi 5132 300.0 - 300.0
5134 |- UZE=-13»13haT3T3Y [SEé»i 5134 189,750.0 - 189,750.0
5200 |1.2 42p25U°3 X 144,800.0 - 144,800.0
31 A4
5221 |- UldsA»fA = &=3/=-3Y»f 5221 144,800.0 - 144,800.0
6000 | 9. aa ukU=20é2T20 2TTEIUCHL £520A200£0 X (4,075,753.2) - (4,075,753.2)
PaiTe°d
31 A4
6100 |DEGU2T2U GE2a0UCSE £520A00E0 BATECS X (650,000.0) - (650,000.0)
31 A4
6110 |20p25A Ta0Ugk £520200£0 BadTe<d 8111 (650,000.0) - (650,000.0)
6400 |428T2_8121 2TTET1UCBE £520200K0 X (3,425,753.2) - (3,425,753.2)
PaiTe°d
31 A4
6410 |DAOK EB20A00/E0 BAITEOS 8411 (3,425,753.2) - (3,425,753.2)
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